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typedef 0 0 typedef 00D O00O0OD0O0ODOODOODOOOOOOODOODOODOOO
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typedef [I O ‘typedefD 00000 ;| 000 typedef unsigned size_t;
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100 80 | 160
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0000, ODAOFO0O0O00O0O00000 0000000000000

mathh 0000 sin, cos, tan, sqrt U square root — 0 0 0 O, exp, log 0 0
00o00o00o0oooooooooooooooooooooog

gecc00D00Omath hO0ODODODOOOOO0O0OOODDOODOOOO0OO0O0O0O
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O00OO0O0O0 OO0OO0OOO0OO0OO0OO0OO0OO0OO0oOoOOOOOOOOO0OO0OO0OO0O0Ofloat,
doubleD OO DO OOO

000000 0O00000000000000000000000000000
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sizeof D 0 OO OO

#include <stdio.h>

void foo(int x[]) {
printf("size_=_%u\n", sizeof(x));

}

int main(void) {
int a[] = {1, 2, 3 };

printf("size_=_%u\n", sizeof(a));
foo(a);
return 0;

}

Uoobo0o0obOb000ob0bO0o0nD sizeot DODOOO0OOOOOODOO
ooo
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#include <stdio.h>
int main(void) {
int i, j;
int x[7] = { 2, 5, 1, 4, 0, 3, 6 };

for (i =0, j=6;1i<3i; i+, j--) {,* 00000000 *#/

int temp x[i];
x[i] x[3];
x[j] = temp;

}

puts('ODO0ooooad™);
for (i = 0; 1 < 7; i++) {

/0000004 #/

printf("x[%d]_=_%d\n", i, x[i]);

}

return 0;

gbooooobooan

#include <stdio.h>
void move(int n, int a, int b) {
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4 printf("O 00 0%d0O 0 %d0O O O %d0 \n", n, a, b);
5 3

6

7 A n0000000a00bpOOC0OOOOO */

8 void hanoi(int n, int a, int b, int c) {

9 if (n > 0) {

10 hanoi(n - 1, a, c, b);

11 move(n, a, b);

12 hanoi(n - 1, c, b, a);

13 }

14 }

15

16 int main(void) {

17 int n;

18 printf("OO00O0O0O0O7?."); scanf("%d", &n);
19 hanoi(n, 1, 2, 3);

20 return O;

21 }

googoobon

1 #include <stdio.h>

2 #include <math.h>

3

4 void drawTree(int d, double x, double y, double r, double t) {
5 /% d ---0000oono

6 (x, y) ---QOooooooa

7 r ---Q0Ooooao

8 t ---0QO00O0o0ob0ooooooas*s/

9 double ri;

10 if (d == 0) return; /* 0O 0O */

11

12 printf("%6.3£f.%6.3£f.%6.3f.%6.3f\n",

13 X, v, X +r * cos(t), y +r * sin(t));

14 drawTree(d - 1, x + r * cos(t),

15 y +r * sin(t), 0.5 * r, t);

16 rl = 0.5 * r;

17 drawTree(d - 1, x + rl * cos(t),

18 y + rl * sin(t), 0.5 * r, t + 3.1416 / 2);
19 drawTree(d - 1, x + rl * cos(t),
20 y + rl * sin(t), 0.5 * r, t - 3.1416 / 2);
21 }
22
23 int main(void) {
24 drawTree(6, 128, 255, 128, -3.1416 / 2);
25 return 0;
26 }
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